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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best complctes the blank. Then
mark the correet choice on your answer sheet.

?‘I

With the pace of life in Indian metros getting faster by the day, many of the old Indian
traditions have fallen into ---——--- and are no longer practiced.

1) indifference 2) equilibrium 3) abeyance 4) annoyance

We thought he was reliable till we realized that he had given us a - — address,

1) dishonest 2) fake 3) skeptical 4} vulnerable

His expression was gloomy at every game; I don’t think I saw him smile even when his
team ——----= a hundred points,

1) scored 2) connected 3) achieved 4) displaved

The approaching rain gave us a --—-——- excuse to escape the boring party.

1) harmless 2}y monotonous 3) secrel 4) plausible

The relationship between the earthworm and the garden is --———--- : the garden provides

a home for the earthworm, while the earthworm provides manure for the garden and
keeps it fertile.

1) impractical 2) symbiotic 3) latent 4) paradoxical

When it was discovered that he had been operating as a spy, he was badly ----———- in the
press as being a traitor.

1) incorporated 2) censured 3) concerned 4) constrained
Contemporary research into the origins of DeLong culture indicates that a hunter-
gatherer society was established about 2,000 years earlier than was --———- thought,

1) similarly 2) sufficiently 3) previously 4) accurately

An attempt was made to ignore this brilliant and irregular book, but in ———----; it was
read all over Europe.

1) jeopardy 2) chaos 3) contempt 4) vain

He strictly warned him that if he did not take the medicine in time, the pain would not
1) subside 2) degrade 3)avoid 4) collapse

To reduce —=-==-=-- , the company will no longer mail monthly paper statements to those
with access to online statements,

1) fright 2) hesitation 3) contlict 4) waste

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Becoming a mother is a major transition, points out clinical psychologist Ann
Dunnewold, (11) ---------- in Dallas, Tex.. provides support for mothers. New mothers
give up autonomy. sleep and relationships (12) ---—------ to the relentless needs of' a baby.
On top of that, they are also expected to be in a constant state of bliss and fulfillment
(13) =mmmmmeme their new role. “There’s a lot of pressure to be the perfect mother, (14) ---
------= they're not coping.” Leahv-Warren says.
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Making matters worse, research that demonstrates the importance of early childhood

experiences in determining future success and happiness (15) ---------- on moms to get
it right.

1) practices 2) whose practice  3) practicing 4) she practices

1) with tending 2)tend 3) to tend 4) that tend

1) of 2) by 3)in 4) with

1) and they are alraid to say 2) while afraid to say

3) but they say they are afraid of what  4) then they say afraid they are

1) and additional pressure 2) add pressure

3) puts additional pressure 4) and added pressure

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best

choice (1), (2), (3), or(4). Then mark the correct choice on vour answer sheet.

16-

PASSAGE 1:

The most familiar example of a ring is the set Z of the integers with the usual
interpretation of addition and multiplication. The logical development of the required
properties from a small set of axioms requires a rather long mathematical argument. We
ask the reader to take it for granted that the integers satisfy the customary rules. In
addition to these general properties, the integers enjov various other properties that rings
in general do not. Some of these are found in the following definitions.

A ring A has a multiplicative identity. denoted by 1. iff A contains a unique element
1 such that Ix = x| = x for every x in A A ring Ais a commutative ring iff xy=yx for
every x. v belonging to A Let A be a ring containing more than one element with a
multiplicative identity 1. Then Ais said to be a division ring iff x =0 implies that there
exists a unique v in A such that xy=vx = . A commutative division ring 1s known as a
field. A ring A contains divisors of zero ifT there exist x. y belonging to A with xy =0,
but x=0 and vy =0. An integral domain is a commutative ring with identity which
contains no divisors of zero. The even integers form a ring with no identity and no
divisors of zero. The rational numbers, the real numbers, and the complex numbers are
examples of fields. Most of our work will be concerned with these fields, but we will
give a short discussion at the end of this section concerning less common fields.

We introduce two general families of rings in order to discuss other ring concepts.
For each positive integer n. the first of these families consists of the three rings Q. R

andK,of all nxnmatrices over the rational. the real, and the complex fields,

respectively. The second of these families consists of the three rings K[x]. R[x]. and
J[x] of polynomials in a single indeterminant x over these same three fields.

Which of the following would be the best title for the passage?
1} The Ring of Integers 2) Ring and Fields
3) Commutative Rings 4) Finite Fields
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18-

21-

The meaning of the word “customary” in line 4 is closest to ——-—----- :

1) satisfied 2) twisted 3) ordinary 4)corollary
Which of the following statements is true?

1) Every field is an integral domain.

2) Every commutative ring is an integral domain.

3) The set of even integers is a ring with identity.

4) All the fields contain a copy of rational numbers.

According to the third paragraph of the passage, which of the following statements is
true?

1) Every ring belongs to one of the above families.

2) The ring Q[x] is a field.

3) The ring R, is a commutative ring.

4) K[x] 1s the ring of polynomials over the complex numbers.
Which of the following statements is true?

1) Every ring has the properties of the ring of integers.

2) The ring of integers is a field.

3) The ring of integers contains a zero divisior,

4) The ring of integers is commutative.

PASSAGE 2:

If A, B, and C are elements of a boolean algebra, K. the following properties of the
relation < hold. (i) A<A (reflexivity) (ii) If A=B and B= A then A= B. (antisymmetry)
(iii) If A<Band B<C, then A<C. (transitivity)

A relation satisfying the above mentioned three properties is called a partial order
relation, and a set with a partial order on it is called a partially ordered set or poset for
short. Not all posets are derived from boolean algebras. A boolean algebra is an
extremely special kind of poset. We now determine conditions which ensure that a poset
is indeed a boolean algebra. Given a partial order on a set K, we have to find two binary
operations that correspond to the meet and join.

An element d is said to be the greatest lower bound of the elements a and b in a
partially ordered set if d<a, d<b, and x is another element, for which x<a, x<b, then x
=d. We denote the greatest lower bound of a and b by a» b (meet). Similarly, we can
define the least upper bound and denote it by v (join). It follows from the antisymmetry
of the partial order relation that each pair of elements a and b can have at most one
greatest lower bound and at most one least upper bound.

A lattice 1s a partially ordered set in which every two elements have a greatest lower
bound and a least upper bound. We can now give an alternative definition of a boolean
algebra in terms of a lattice: A boolean algebra is a lattice that has universal bounds (that
is. elements 0 and | such that O0<a and a<1 for all elements a) and is distributive and
complemented (that is. the distributive laws for ~ and + hold. and complements exist). It
can be verified that this definition is equivalent to our original one.

According to the passage ---—--——---,

1) every boolean algebra is a lattice

2) reflexivity and transitivity are sufficient for the relation, <in a poset
3) for every Aand Bin a lattice, A<Bor<A

4) every poset is a boolean algebra
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24-

25-

26-

27-

28-

Which of the following statements is true?

1) a b <aforevery a and bin a lattice L.

2) Every lattice includes universal bounds 0 and 1.

3) Every two elements in a boolean algebra are comparable with respect to=.

4) In a poset the greatest lower bound of every two elements exists.

For every a and bin a boolean algebra -———-m-eeee,

1)y avb<anb 2)anbzl 3) avl=a 4)avb=a

According to the passage, the uniqueness ofa » b in a boolean algebra is a conclusion of -
1) reflexivity 2) antisymmetry 3) transitivity 4y distributivity

If I, P and B stand for the category of all lattices, posets and boolean algebras,
respectively, then which one is correet?

1) LcPcB 2) LcBc P ) BcLlcP 4)PcLcB

PASSAGE 3:

Suppose that (X M) is a measurable space. If E— X the characteristic function X of E
is defined by Xg(x)=1ifxe Eand Xg(x)=0if x¢E A few remarks comparing
the construction of Lebesgue and Riemann integrals may be helpful. Let fbe a bounded
measurable function on [a, b]. and for simplicity let us assume that £ =0. To compute
the Riemann integral of £ one partitions the interval [a.b] into subintervals and
approximates ffrom above and below by functions that are constant on each subinterval.
To compute the Lebesgue integral of £ one picks a sequence of simple functions that
increase to £ In Lebesgue theory, the assumption that £is measurable removes the
necessity of considering both upper and lower approximations.

The Lebesgue theory offers two real advantages over the Riemann theory. First,
much more powerful convergence theorems. such as the monotone and dominated
convergence theorems, are available. This not only vyields results previously
unobtainable but also reduces the labor in proving classical theorems. Second. a wider
class of functions can be integrated. For example. if R is the set of rational numbers in
[0.1]. Xpis not Riemann integrable, being everywhere discontinuous on [0,1]. but it is

Lebesgue integrable. and J.X rpdm=0.

According to the passage --------- —

I} every Lebesgue integrable function is Riemann integrable

2) there exists a Lebesgue integrable function which is not Riemann integrable
3) Only constant functions are Riemann integrable

4) Riemann integraton is not suitable for functions defined on R
Which of the following statements is true?

1) Simple functions are not Riemann integrable.

2) Only the increasing functions are Lebesgue integrable.

3) If fis a discontinuous function on [a.b]then fis not Riemann integrable.

4) Every Riemann integrable function is Lebesgue integranle,

Which of the followings is closest in meaing to the word “approximates™ in line 67
1) Evaluates 2} Integrates 3) Approaches 4)Computes
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29-  According to the definition of the characteristic function and the symbol Rin the passage,
which of the following is correct?

1) xﬂfﬁm 2) Xx(¥2)=0 3 }L'R{é}=l 4) Xg(1)=0
30-  Which of the following statements is true?
1) Monotone convergence theorem is available in Riemann theory.
2) Dominated convergence theorem is NOT available in Riemann theory.
3) Proving classical theorems in Riemann theory is easier than Lebesgue theory.
4) Every measurable function fis monotone.
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